
 

Correction mathématiques mardi 16 juin 
 

 

Calcul posé 

  

    1   1 

    2  5  7 

    1   7  1 

+       1  2    

    4  4  0 

       

        

       1  7  4 

  -    1  3  3  

       0  4  1 



 

Exercice p 114 

 

On cherche : 
4 + 4 + 4 + 4 + 4 
5 x 4 = 20 

20 

On cherche : 
 ? x 6 = 24 
 4 x 6 = 24 

4 

3 x 10 = 30 
30 + 4 = 34 

3                   4 



 

Exercices p 115 

 

2                         18 
3     12 
4     9 
6                           6 
 Ou encore : 4 boîtes de 9, 3 boîtes de 12, 2 boîtes de 18 

5                      7 
1 


